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What are the aiajor challenges of Public Distributién System (PDS) in India ?
How can it be %ﬁﬁan ransparent ? (Answer in 150 words) 10
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Elaborate th an of the food processing industry in India. 10
(Answer in 150 words)

/qs. %mfia@wﬁmﬁmq@émﬁﬁmgﬁﬁﬁmﬁﬁnﬁ%ﬁ

ﬁﬁﬁﬁﬁﬁﬁ-ﬂ?m%aﬁtmwhw-wmmwﬁmﬁ ?
e . (150 wedi # Fe ifre)
¢ increase in life expectancy in the country has led to newer health

challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words) 10
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Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
¢ undergoes bef:ore yielding carbon dioxide, water and other end products ? 10

(Answer in 150 words)
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Explain the mechanism & 10

tinent. Discuss two recent example
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Discuss the types of organised crimes. Describe the linkages between terrorists

t the national and transnational levels.
(Answer in 150 words)
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What are the maritime security challenges in India ? Discuss the

organisational, technical and procedural initiatives taken to improve the

maritime security. (Answer in 150 words) 10
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“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will

lead to creation of more jobs without compromising labour productivity. 15
(Answer in 250 words)
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j R e s n@g@ an@\’—V!l\stream process of

What are the main bottlenecks i .
marketing of agricultural products in India ? (Answer in 250 words)
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/ What is Integrated Farming systeg 2 How is it helpful to small and marginal

farmers in India ? (Answer in 250 words)

Q15, 25 faawr, 2021ﬁmwmaamamqmamﬁﬁm§aﬂ%|
¥ T FRBE @ oy Rgand § 9 39 360 TS % SjaRe Sefehdl § IS

/ Tl 2 2 50 v % ey o 8 2 AHE W % U s @ Gwiied @ @
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Launched on 25th December, 2021, James Webb Space Telescope has been
muc}l. in the news since then. What are its unique features which make it
SHperor to its predecessor Space Telescopes ? What are the key goals of this
mlésii{l ? What potential benefits does it hold for the human race ?

N (Answer in 250 words)
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What is the basic@r}gp)le behind vaccine development ? How do vaccines
work ? What approaches were adopted by the Indian vaccine mzmmurers to
produce COVID-19 vaccines ? (Answer in 250 wm‘ds)
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ffects on the global climate. Explain
effects

B lt9] el of greenhouse gases which cause
eve

Discuss global warming an
1, 1997. (Answer in 250 words)
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the control measures to bring down Ve S
global warming, in the light of the Kyoto I roto
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tal erosion in India. What are the

. \14 Explain the @auses and of- coas .
availablecoastal managenient techniques for combating the hazard ?

(Answer in 250 words)
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What are the different elements of cyber security ? Keeping in view the

challenges in cyber 'security, examine the extent to which India has

successfully developed a comprehensive National Cyber Security Strateg)
(Answer in 250 words)
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Naxalism is a @, eco@ and elopmental issue manifesting as a

violent internal security threat. In this context, discuss the gmerging 1ssues

and Sumayered strategy to tackle the menace of Naxalism.
| ~ (Answer in 250 words)
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